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Equation 1: Figure of Merit Calculation where 𝑇஽ is the onset of  thermal decomposition (°C), 𝑇௏ is the 
vapour temperature (Torr / °C), %𝑚௥௘௦ is the present residual mass and %𝑚஼௨ is the present copper of 
the total precursor mass.   

 

 

Figure 1: Example of copper precursor figure of merit using Equation 1, with compounds 
[𝐶𝑢( 𝑃𝑟 

௡ − 𝑀𝑒 − 𝑎𝑚𝑑)ଶ]ଶ (1), [𝐶𝑢( 𝑃𝑟 
௜ − 𝑀𝑒 − 𝐵𝑢 

௦ − 𝑎𝑚𝑑)ଶ]ଶ (2), [𝐶𝑢( 𝑃𝑟 
௜ − 𝑀𝑒 − 𝐵𝑢 

௧ − 𝑎𝑚𝑑)ଶ]ଶ (3), 
Cu(ketoimine-1)) (4), Cu(ketoimine-2) (5), Cu(diimine-1) (6). [4, 5]   
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